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a. A scatter plot has a correlation of r = -0.95. What does that tell you about the scatter plot?




b. Draw a scatter plot that could have a correlation of r = -0.95. 








Label each scatter plot as positive linear, negative linear, positive quadratic, negative quadratic, positive exponential, negative exponential or none. Be sure that you tell why!
a. [image: http://pandas.pydata.org/pandas-docs/version/0.15.0/_images/scatter_plot_repeated.png]           b. [image: http://www.ablongman.com/graziano6e/text_site/MATERIAL/statconcepts/scatter%20plot%203.png]       c. [image: http://www.freakonomics.com/wp-content/uploads/2011/03/Taylor-back-to-1990.jpg]  



d.  [image: http://onlinestatbook.com/case_studies_rvls/physical_strength/graphics/image%20530.gif]                 e.  [image: http://www.itl.nist.gov/div898/handbook/eda/section3/gif/scatplo6.gif]             f.       [image: http://www.everythingmaths.co.za/maths/grade-12/09-statistics/images/89a0bcb19899194074eb4a1470fb4749.png]       



g.       [image: http://www.everythingmaths.co.za/maths/grade-12/09-statistics/images/94d8b45a45f325add7733664dfbed2c3.png]
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